Class - I Practice Worksheet- Year : 2013 - 14
Q.1 Find out 6 group to get the ans 10 with the help of subtraction. (6)
11 12 6 5
1 15 2 3
6 5 20 10
16 6 18 8
Q.2 Colour the boxes to find the answer. (4)
(1) 50 (2) 2 5
— 30 — 15
(3) 4 0 (4) 2 0
— 20 — 10
Q.3 Subtract using Number line. (4)
1) 28-6=___ 47T T T T T T T T 1
20 21 22 23 24 25 26 27 28 29 30
(2) 56 —8=
1T 1T T T T T T T T T T T 1
45 46 47 48 49 50 51 52 53 54 55 56 57 58
(3) 89 —-7=
1T T T T T T T T T T 1
80 81 82 83 84 85 86 87 88 89 90 91
4) 92-9=__ o771 T T T T T T T T T T
80 81 82 83 84 85 86 87 88 89 90 91 92 93
Q.4 Subtract using abacus. (4)
(1) T 0 (2) T 0
6 8 7 5
-3 3 -3 2
(3) T O (4) T 0
35 6 3
-2 2 - 11




Q.3 Solve. (2)

(1) 6 8 (2) 4 6 (3) 50 (4) 4 3
- 5 - 2 - 7 -
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Q.1 Mark if these are () or wrong (X). (3)
(1) 4-3 =20 ( ) 4 9-8 =1 ( )
2) 6—-0 =20 ( ) (5) 15-5 = 10 ( )
3) 6-3 =3 ( ) (6) 5—-3 =5 ( )
Q.2 Subtract by backward counting. (4)

m 2-7=0000000=0

(2) 85—6=OOOOOO =O

e 13-9=000000000-0

@ 50-8=-0O0000000-0

Q-3 Who am 1. (6)

(1) "I'go up when the rain comes down : Who am I"

Solve write the letter matching the answer below to know.

E [ ™ B B
37 8 0 50 3 3
~22 ~26 ~20 ~27

[’ [T [0 L]
6 4 8 5 7 6 5 4
—27 ~28 ~56 21

Q.4 Subtract using beads. (2)
(1) T O (2) T 0
5 8 8 7
— 3 2 — 3 4

(PT.0.)



Q.5
(1)

(2)

Q.3
(1)

(4)

Word problem. (2)
Ketna brought 18 candies and ate 5. How many candies is she left with

Ketna brought candies

She ate candies

Ans. : She has now candies left

There are 64 Mangoes in a box. But of these 8 Mangoes are bad. How many
good Mangoes there in the box.

T 0]
6 4 Mangoes
— 8 Bad Mangoes

Ans. : good Mangoes are left there in box.
Solve. (3)
30 (2) 2 3 (3) 6 3
- 7 -5 — 3 6
2 6 (5) 4 3 (6) 8 4

— 19 — 8 6 7
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